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Cnd B ,b s ha2 DI z® ((stack) axid e
First-In-Last-Out (FILO) L Last-In-First-Out (FILO)

Sl 51 B> g Lgl 55 Jakd zo? (queue) i ®
First-In-First-Out (FIFO)
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class Node {

private Object element;

private Node next;

// constructors

Node (O {
this(null,null);

}

public Node(Object e, Node n){
element = e
next = n;

}

void setElement(Object newElem){ element = newElem;}

void setNext(Node newNext){ next = newNext;}
Object getElement(){ return element;}
Node getNext() {return next;}

I CLRS L (55lwesly

size[L] 5 element ezt :aad go

| C++ | Uava) | 5l> CLRS JSas

x = new Node() x < ALLOCATE-NODE()

x = new Node(element, next) |z < ALLOCATE-NODE(e,n)
null x FREE-MODE(z)

x.getNext () next|x]

x.setNext (n) next[x] < n
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'REATE(L)
1 size[L] — 0

2 return null

1ZE(L)

1 return sizeS]

SEMPTY(L)
1 return S1ZE(L) =0
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NSERT-FIRST(L, x)
1 L« ALLOCATE-NODE (z,L)
2 size[L] — size[L]+1

NSERT-AFTER(L, x,n)
1 next[n] < Allocate-Node (z, next[n])
2 size[L] <« size[L]+1

3t © 1\
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CREATE-LIST(L) o
Kl S oo gy Comd jolis sluss SIZE(L) @

-U‘:deaj |J JJ‘ ,,a.& :FIRST(L
(S o LT & LS o paseis ISEMPTY(L

)
)
)e
)e
LS o0 z® S g1l 53 1y 2 500 b jeaie S INSERT-FIRST(L, ) @
gL s pacs S o Hlade b e S INSERT-AFTER(L, 2, 1)
S
AS o BA> |y L Cnd J g juaie (DELETE-FIRST(L) ©
LS o BA> 1y L )30 pais | g maie IDELETE-AFTER(L,7) @
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L
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element

L
B AEEE- - —EEEE
[2]/] L — ALLOCATE-NODE (z, L)

INSERT-FIRST (L, )

[]7] next[n] «— ALLOCATE-NODE (z,next[n])

INSERT-AFTER(L, x,n)
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)ELETE-FIRST(L)
1 if iIsEmpTy (L)
2 then error LIST IS EMPTY
3 n— L
4 L« next[L]
5 FREE-NODE(n)
6 size[L] «— size[L] —1

)ELETE-AFTER(L,n)
if IsSEMPTY (L) or n = null
then error LIST IS EMPTY

—_

r — next[n]

FREE-NODE(r)

2

3

4 next[n] — next[r]

5

6 size[L] « size[L] —1

L
L — next[L]
DELETE-FIRST(L)
L
BT =115~ - — =1

next[n] < next[next[n]]

DELETE-NEXT(L,n)
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INSERT-AFTER(L, z,n)
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L
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N

DELETE-AFTER(L,n)
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INSERT-AFTER(L, z,n)
1 7+« next[n]
2 next[n] — Allocate-Node (z,n,r)
3 prevlr| < next[n|

4 size[L] « size[L] +1
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DELETE-AFTER(L, n)

—_

if ISEMPTY (L) or n =null or next[n] = null
then error THE ELEMENT DOES NOT EXIT
r — next[n]
if next[r| # null
then prev[nezt|r]] «— n
next[n] «— mnext|r]
FREE-NODE(r)

0 N O Ot = W N

size[L] «— size[L] — 1
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After inserting E at the beginning of L

L
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prev
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element
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NITIALIZE()
1 null « 0
avail — 1
fori— ltoM—-1
do next[i] — i+ 1
next[M] «— null

T W N

\LLOCATE-OBJECT()
1 if avail = null
2 then error out of space
3 x«— avail
4 avail — nextlavail]
5 return z

'REE-OBJECT(x)
1 next[z] «— avail
2 avail — x

P
Y.

Al
\

After deleting 3rd element from list (b)
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Cond S 53 IS pols Sl e 535 2 Ks Slles

L@ T35 AT —1]

LB -EE [wﬁ;ﬁ}--ﬂj
q

next|q] < next[next[q]

I (Garbage Collection) _g9,4L)
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Z .. .. . R R PURGELIST(L)
U&;U\m' T te LG'J - ‘Sﬁ Qb; dj)‘j > removes all identical elements but one
1 p+« FIrsT (L)
2 while p # null
3 dog«+ p
4 while next[q] # null
5 do if element[p] = element[next[q]]
6 then DELETE-AFTER(L, q)
7 else ¢ — nextq]
8 p — next[p]
€55 J= Olnlgn) ;315 ) ool 05 oo L
(5L O ot S G038 0l
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N

RECURSIVE-REVERSE(L)

if L = null
then return null
L
L N P
BT [ [ O — q < next[p]

r < RECURSIVE-REVERSE (q)

AN

Sl e Dot e S 03 S 0l

nextlg] — p
next[p] < null

size[r] « size[L]

© 00 N O Ut = W N =

return r
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J(V) =\
J(Yn) =YJ(n) -\, forn>\,
JYn+ V) =YJn)+ ) forn>\.

(1) s (1595 Gy Cdd Cop G 01 9 e 30 (29393 348 &) g0ty 1y 10 S

el J(n) = (Yoo Vo )y =YY Clgm n = Yoo = (VYoo Yo)y gl s

\

NR-REVERSE(L)
1 if L = null

2 then return null

3 p+« null

4 q+— L

5 1« next[q]

6 while ¢ # null

7 do nextl[q] — p

3 P q

9 q— T

10 r <« next[r]|

11 size[p] « size[L)]

12 return p
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OESEPHOUS(V) -
> create a cicular link list with /N nodes e 54 150 J"
L — ALLOCATE-NODE(1, null )
p— L
fori— 2to N
do next[p] — ALLOCATE-NODE(i,null )
p — next[p]
next[p] — L
> NOW THE SOLUTION
p— L
while next[p] # p
do DELETE-AFTER( L,p)
p < next[p)
return element[p]
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S sads YL o e S g2 Pusn(S,z) e

& i (eed) s 183505
iy Y e 03 F3L 5 i POP(S)

A3l Jl iy Shiles (0d) pais i oms A mt 1S000
Ay 50 S g 9e ol slaas S1ZE(S) @

T e S i P 1800

@y sbar ol g BB < AV Y,Y.Y, T F 0>

ol Jb iy LT 45 uS o paseie ISEMPTY(S) @
S 3Bl Sy g 2 zmed 1850058

Kl B o p 1y aniy GYU s TOP(S) @
Al Jbr anty Sl (o) e i s A et 18003
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ALY L0 Y YN AVY Y Y L0

Csbar ol 15 BB <A YYYLE 0>

Push, Push, Push, Push, Push, Pop, Pop, Push, Pop, Pop, Push, Pop, Pop, Pop, Push, Pop

ebar < VLAY ALY,V 0>

339 g0 s o 5L kil top[S] g4l g0 g maz ZSIa> el NI LS 64&,]

-

o

ublic class ArrayStack implements Stack {
public static final int CAPACITY=1000;
private int capacity;
private object S[];

private int top = -1;
public ArrayStack(){
this (CAPACITY);

+

public ArrayStack(int cap){
capacity = cap;
S = new object[capacity];
}
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USH(S, x)
1 if S1ze(S) = max
2 then error ("stack is full”)
3 top|S] « top[S]+1 LT Lt ileosls
4 Stop[S]] — = o ”
S1ZE(S)
0P (S) 1 return top[S] > assuming that initially top[S] =0
1 if isEmpty() | ISEMPTY/(S)
2 then error ("stack is empty”) | return SizB(S) = 0
3 e« S[top[S]]
4 top[S] — top[S] -1 Top(S)
5 return e 1 if ISEMPTY(S)
2 then error ("STACK IS EMPTY”)
3 return Stop[S]]
% e © 2 G edigs 5Kl o8 e © i oS i e K0

Jedo

sl L aly Lo (g5lwesly

L o planil O(Y) 53 dles! (s4en

wdd dazws (© YA FaelS wdiga (5oaSCils oS dozws © v F ol wdige oaSKIls



USH(S, x)
1 top[S] < ALLOCATE-NODE (z, top[S])
2 sizel[S] «— size[S]+1

OP(.5)
1 if ISEMPTY(S)

2 then error ("STACK IS EMPTY”
3 n«— top[S]

4 temp — element|n]

5 top[S] «— next[n]

6 size[S] — size[S]—1

7 FREE-OBJECT(n)

8 return temp
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& e (et e 3400
o Ikl 5l e CBJ> :DEQUEUE(Q) e
ABly Y 1 e () s r s 152023
o 3 59 90 pols slaas SIZE(Q) @
g 305 Ko s gt 185939
ol 5 o LT 45 &S o aseie ISEMPTY(Q) @
S y3B b Syt g A 163408
Kl 8 o5y <o glAnl i FRONT-ELEMENT(Q) o
Wl J Sl i s St 162000
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S1zE(S)
1 return size[S]
ISEMPTY(S)
1 return (size[S]=0)
Tor(S5)
1 if isEmpty(S)
2 then error ("stack is empty”)
3 return top[S]
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maxr — \ G o gl il gmar go3l LI L wl,l Ko
L g 055 3 Sl Cugr 53 5 Ll9d Sk polis e
Sl Q1] S pais Q[(¢ + Y) mod max] e
o oIkl e Ll front[Q] 4l oo @
oo pie p P (sdny g oy dilrear(Q) o
Ll mar — \ pole sl iSlas cpl plu e
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12E(Q)

1 return (maz — front[Q] + rear[Q]) mod max

SEMPTY(Q)
1 return (front[Q] = rear[Q])

'RONT-ELEMENT(Q)
1 if IsSEMPTY(Q)
2 then error ”"Queue is empty”
3 return Q[front[Q]]

I Jss aliT b g3lwesly

front

Tont —
J front L

rear

full queue

empty queue non-empty queue

ot Aoz © o F el pwdkige oaSKIls
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front|Q] = rear[Q] = ° &9,& J3e
(max — front[Q] + rear[Q]) mod max pl p adaar ols sldai @
Jront[Q] = rear|[Q)] (‘%JL’ b Je oS o Sle

(maz — front[Q] + rear|Q]) mod max = max — \ ("Jb ASb Sels Sle
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en O(V) 51 aea Jles! o
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wdd dezes (© OA S8 wdige (GodSKils
front {10
rear
ot -
rear
front BT
rear [ oo
wdd dazws (© Fo FaelS wdiga (5oaSCils

ENQUEUE(Q, x)

= W N =

DEQUEUE(Q)
if isEmpty()

if Size(Q) = mazx — 1
then error ”Queue is full”

Qlrear[Q]] «— =«
rear[Q] < (rear[Q]+ 1) mod max

then error "Queue is empty”

front|Q] —

1
2
3 temp — Q[front[Q)]]
4
5

(front[@] + 1) mod max

return temp
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N
)EQUEUE(Q) ISEMPTY(Q)
1 if ISEMPTY(Q) 1 return size[Q] =0
2 then error 'QUEUE IS EMPTY’
3 n— front|Q] ENQUEVE(Q, 2)
4 x «— elementn]
5 frontQ] — newt[front(Q] 1 next[rear|Q]] « ALLOCATE-NODE (z,null )
6 FREB-NODE(n) 2 r?ar[Q] — @e:ct[rear[@]]
7 sizelQ] — sizelQ] — 1 3 sizelQ] — sizelQl+1
8 return z
BRERWSYG) 5 G edigs 5Kl o8 e © 2 oS i e K0

N
so =\ =1 \AC;«..:‘J‘ @Ub:ﬁ)ls
Sy = \
Sa:f
Sr:Y R R .
sy = BT BULIPLISEICII
~ Sf:\

P Py Py Py Py Do DPa

(50 535 53 01 Gtey30 5 () sz Sk 3 e S ail)

wdd dazws (© ¥ FaelS wdiga (5oaSCils oS dozws © Y F ol wdige oaSKIls



N . s . )
39 50 d B G55, 53OS S plow o

?"*'S lAg |, «‘:Lg,..« of $0,95) 95 A 3 g":‘“‘d’.'d"

JOMPUTESPANS(P) _ . p
> Input: n-element array P L5y s b ol 2l 505 53 0093 Al pi 212 555 03l et S
> Output: n-element array S 5L pi sl b 45;'5 (’Lé“" oo 45 (0 JolB) i 51 J3 Ao BBy

1 fori— 0 ton-—1 Pu.ll.?née\.llﬂ:‘_;:”‘,
2 dok+— 0 oy - . 7 .
X Jome . false AL 55 53 (plew s0,99 S[i] &S5 pbin salyl iy A
4 repeat if P[i — k] < PJi]

5 then £k — k41

6 else done «— true

7

8

9

until k =i or done

Sli] — k+1
return S
wdd dezws (© 24 FalS wdige goaSEils ot Aoz © 0 F el pwdkige oaSKIls
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JOMPUTESPANS2(P)
> we use a stack D Y
1 fori— 0 ton-—1 O(n’)
2 do done +— false
3 while ( not ISEMPTY(D) or done)
4 do if P[i] > P[Tor(D)]
5 then Popr(D)
6 else done «— true
7 if ISEMPTY (D)
8 then h — -1
9 else h— Top(D)
10 S[i] — i—h
11 PusH(D,1)
12 return S
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TERGESORT (L) 3 Sl anly LS ST 5 s andy 5o HLSS By a2 042 O(n)

> Will sort a link list L by only
changing the pointes

1 if Size(L) > 1

2 then Ly, L, — SpLIT(L)

3 MERGESORT (L;)

4 MERGESORT (Ls)

5 return MERGE(Ly, Ls)

IR Ve PR IRPATLTR SRRy & PR IRPACERR
N
TERGE(L, L2)
1 if ISEMPTY(L;) L
2 then return Lo o.L.»:fL&J‘ W,J .
3 if ISEMPTY(Ly) I@ { M { =
4 then return L,
5 if element[L;] < element[Ls] . J_,yua fbb‘ ("A 55 d“”s) sl gL
6 then next[L] — MERGE(next|[Li], L) d _{ ‘ { BEEED {
7 size[L] « size[l4] + size[Ls) | T
8 return a0l otie 1L 5 cd A5 5 Ly 5 Ly 0 d 53 ol
9  else next[Ls] <« MERGE(Ly,next[Ls])
10 size[Ls] « size[L;] + size[L,]
11 return L,
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PLIT(L)

if ISEMPTY(L) or Size(L) =1
then return null

Ly +— L

Ly — mnext[L]

next[L1], next[Ls] <+ SPLIT(next[Ls))

—_

[ [ [ e 1]

%h

h@p

=/ O\ - -
size[L1] «— [5]
size[Ly] « |5]

return L, Lo

0 N O Ot = W N

Sy ] 5 [F] cod 2 4 Gpae n e S
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IT Yz oS fa i

KSbn, gny . ngﬁ s ja LkQT Sa>3 e

S o A ) Do O

P(Z,y, T, My, ny7n:L’) =

C’”z(PTl,z (y, l‘a nyv nr)

2" + Cn.—\ (Pﬂ37 \ (yv Ty Ty, n.'lf)zn:7\ +

2y el bond Sidyl Sy,

-+ co(Pe(y, z,ny, 12))
wdd dezes (© VA S8 wdige (GodSKils
var  link dlink _link coef link
ELle—{ N\Fﬂﬂkr—ﬂ\\%—+ —[DTe] -
exp
P /’/7A>\\\
!’ ll y
\P(wmn?"’n «yrn,m) L Py m)
\ N

var link dlink link

BRG e [V o]

exp exp

[Ty ¥ Te e[V Te] [w[-Tet-{o[F TtV o]

[ -Te3~{¥TA] o[-Te}+{VTeTe]

coef link
(=] [~ ~{¥TAe]  [af- [~V FT4—~{TI¥] e

(2 +Yah)y" + vaty")" 4 ((a:f + '\xr)yf +Yy)z

coef | expx [expy
expz| link
ot Aoz © W F el pwdkige oaSKIls
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)EPTH-PLIST(P)

1 p— P

2 depth — 0

3 while p # null

4 do if NODE-TYPE(p) = poly

5 then depth «— max{depth, DEPTH-PLIST (dlink[p]) + 1}
6 p — link[p]

7 return depth

PRrRINT-PLIST(P)

wdd dezes (© AY S8 wdige (GodSKils

550 b 4 (22550 slaen ;S foas

Procedure A ProcedureC

begin begin / begin
& /‘ call C
\— return return return

Procedure B

wdd dazws (© AY FaelS wdiga (5oaSCils

1 p— P
2 X = wvarlp)
3 while p # null
4 do if NODE-TYPE(p) = poly
5 then PRINT "coef[p]+ (’
6 PrINT-PLIST (dlink[p])
7 PRINT *) +XcolPP
8 else
9 > it is of term type
10 Print "+coe f[p] X*IP)
11 p — link[p]
ot Aoz © A F el pwdkige oaSKIls
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I (Call) glg13 ,a gl
Sl Jas (A
Sl p S 5 elSsL (Y

(pdy e pows sl pice S IS CI 8) dowe gl e (4 dST (g0 53 (3
.(PU.Sh) v-:-\-af-ﬂ 64:-\:% Jé bl.i’.._"ujl.&a

(Push) 555 oo Joe aniy & <2850 sl (Y

sl e b 2al,5b 3,8 8 &) gee (Parameter Passing) ba el )by Jas! fos (F
sl (Variable) w).ﬁi L (Val) &3, g5

sd> 549, sl 4 (Program Counter casl 5 (godilacd SL3) anli  J s (¥

.J;S‘-;O G)L:‘
wdd dezes (© AS FalS wdige goaSEils ot Aoz © AD F el pwdkige oaSKIls
N D
s W
Jlee I (Return) <2856 s
[oNOI(n, f,t,h) 3 olles S
> moving n coins from leg f to leg t with the help of leg h . . . . . .
1 ifn:l Jlj.eg)l..&:j}):‘,m|>ﬁw***d'9\.3:)‘95))||) ;lm‘_;uw ~ LgLAJL.\.LA(\
2 then Move the coin from leg f to leg ¢ e
3 else HONOI(??, — 1,f, h,t) .ﬁ)}iw Cowd 4 4:—:..; d&le J‘ |) IR :'/J'L: J-')JT (v
4 A: Move the coin from leg f to leg ¢ -
.(Pop) a=yls wis iy 1 (F
5 Honoi(n — 1, f, h, t) P) g3 o0 p axiy 51, 3,855 0 A
6 B: .V..;Mgoul.s‘(\‘ J.:e)c,..ifjlfuaﬁljlbubﬁd;;f(\‘
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VONRECURSIVE-HONOI(n, f, t)

1 h < the other peg
2 © to make a recursive call start from here
3 ifn=1
4 then Move the top coin from leg f to leg ¢
) goto 9
6 else PusH (S, STACKREC(n, f,t,h,”A%))
7 n, f,t,h— n—1,f h,t > parameter passing
8 goto 3
w8 deres © % JECRPPNTET

Final return

II '\NOI(] 1.3,2) H \NOI(I 3,2,1) Hanoi(1,2,1,3) Hanoi1(1,1,3,2)

Howo1(3,1,3,2) ;» g (S22 3l S5 ela il ks Sl e

I (Tail Recursion) <28 3 u-.’.:"i i

Loyl hin 51 48 (5, 9w a1 e 55 OF 1 by &S 22850 Slg 3 o 5
oS AL o AT 5 5 ol (S eslil U ke

ot Aoz © A4 F el pwdkige oaSKIls

% e © ay G i oS>

> to end a recursive call start from here
9 if not ISEMPTY(S)
10 then return-address, n, f,t,h — PoP(S)

11 switch
12 case return-address = A’
13 do Move the top coin from leg f to leg ¢
14 PusH(S, STACKREC(n, f,t, h,,‘B¢))
15 n, f,t,h+— n—1h,t,f > parameter passing
16 goto 3
17 case return-address = ’B’
18 do goto 9
s daze © 4 F ol pmdige oSl



[oNoI(n, f,t,h)
> moving n coins from leg f to leg ¢ with the help of leg h

1 ifn=1

2 then Move the coin from leg f to leg t

3 else Honoi(n — 1, f, h,t)

4 A: Move the coin from leg f to leg t

5 Honoi(n — 1, f, h,t)

6 B:

o0t © F
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5,5 Gl aniy 3l ealiial O Ol oo 5SS 50 ol

RECURSIVEPROC(. . .)

A: RECURSIVEPROC(...) b this is the last line

X:

Sl LS oo i Olinajldis Jows sl pics (A) Slos1 3 ol 51 ctE 50 o

] CiE 5L S s (1) Jy o580 JLis (1) gakai Hl asl
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VONRECURSIVE-HONOI2(n, f, 1)

1 h « the other peg

2 > make recursive call

3 ifn=1

4 then

5 Move the top coin from leg f to leg ¢

6 goto 10

7 else PuUsH(S, STACKREC(n, f,t, h)

8 n, f,t,h+— n—1,f h,t > parameter passing

9 goto 3
10 © end recursive call
11 if not 1ISEMPTY(S)
12 then n, f,t,h — PoP(S5)

=8 dew © ar
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13 Move the top coin from leg f to leg ¢

14 n, f,t,h— n—1"htf > parameter passing

15 goto 3

i dome © & F oS omdigs oSS
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TowER-OF-HONOI2(n, f,t, h)

> eliminating the last recursion
ifn=1
then Move the coin from leg f to leg ¢
else Tower-or-HonoI(n — 1, f, h, t)
Move the coin from leg f to leg t
n, f,h— n—1h,f

goto 1

> parameter passing
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